1. Wrapup 2-factor ANOVA
2. Review: use old transparency to define the three effects and three hypotheses

a. Remind the class that we’re simplifying by having just a 2x2 table.  In reality there could be more than two rows, and more than two columns.
3. Why do a 2 factor ANOVA?  Three reasons:


a. Interactions

b. Power

c. You can explain more of the variation in your variable.

d. Interaction:

i. Discuss interactions in more detail, with numerical examples from past lecture

ii. 2x2 and 3x3

iii. Caution: interactions changed if you do transformation

e. Power

i. Show example of a tremendous main effect in type of subject.  This greatly increases the within variance.  If the within variance is high, it reduces the significance of your observed statistic.

f. Explanation

i. More variation is explained with the R^2.

4. How to do the calculations:

a. OVERVIEW: you do two single factor ANOVAs just like before, only with one difference: your within MS is pooled over all four cells.

b. Then you test for the interaction effect, again using the pooled MS over all four cells.

5. Use new transparency to replace true means with calculated means

6. Show the calculations diagramatically?

a. For a main effect of factor A:

i. Ignore B and do a single factor ANOVA for the A, with one difference: for the within MS estimate, use the pooled estimate across all four cells in the table.

b. Main effect of factor B:

i. Same thing

c. Interaction effect:

i. This is more complicated.  It turns out that the interaction SS I = SS cells – SS A – SS B 

d. For all of these, the effect is tested against the within MS, which

7. Sample size warning: sample sizes need to be proportional

